7/Z2(Zozl

One- j
{o on@ 0( lV‘ 2o
ol (/8

0 fuo diffecerd
e
AVKNU&M Gﬁg pa'LS aQ/UU(‘AW h
awe Two

Om@-io«me?

(l

S
O\{)(\SNOT‘\

(K
" noy 10 +¢
ozont ol Jirg JCQS: T
s LT QA MO((ZOHM




| e IM'R(SWAS ﬂ/\@ / M (IVW(Q /\/\a
N
N&h {he \Cw\&fr(o\ﬂ 655 N@\ - o

Selt 5
po
. | U7
(

VODnL Omf{-o—ovxz ( ~ - \)QG )

\// (\Z(‘ one-fo-ond

(ot one- fo-ond
ero 4 8leent
wﬁsgrhﬂm
S o QUJT
/r’p Qunction s W@Q we con +indl
\jrs kwe 30 Qﬂ( wery o\oment N
T™he (U\ae W\\\C\/\ camd Q\(oq\(\ oLl QQ.@W]M\’\'
(1 e dowatn W can dond iy where

& (ane £ rom




’L

@ W Consios \1,

L{Q&po& can T gwse oo peh
WMU\% + Camewé mf‘P&?

So U toul Ld hove tgme S%rom Y,=¢
O\Q CGMOSL \\O‘W ome %OW\ ><9:' -1

WQ CQM w[w\& W\Q \\JOnS¢ wﬂus
(¥, £

D

g-.
Dﬁ}r Leb £ e o buncton wdh (ngaw\ Ds

W\(& ‘((L\I\CJ(’, Q\Q 0N osSUAe -Si (S /\\/\@

e g S Ronch on 3}
oMt S0=y e §7()=x

Mo nverse funckon feverses W oles oy

NS n@u&g and. W oudpuks
pFund e twerse (Vioe o %{}0(&)




o) Sz Ix-% Siep Lo ol
M= B Sup Kandy

) W(x)= ><+L\ Step 2 dor oL
Ob 6(%\— XL See o N

AR

D)= D ¥3 K X2

0 rewcde The Ely,}j
W WVow swe % ow\@lj




e \Oo/l'\ %“loQﬂ/S Up \/\
iiw fuond i

_ ((yr> > (Sc&w%ief EQ

Y= \/JFL
~ 2~
\ A AN '(()4\:%&’9
&) ()= 7 i
)= Y=
) swep
:L\"
< NtH
that:
2\@0\\!( Yor %: (eVoss f“\‘*fH“Plj3
YV
> k(4H0=1
Xy + i =
_ iy —H4¥
Xy= 1-4%
P A
o\ =HX




@ywﬁZM&g%ﬂ

paal
Y= ez
4|
swep  ¥7 \L;lfz

y(%z\ vt
xy+2% =N+l

%1 1_ \- 2%

qulor our | \Ma

» Move uu&ums wﬂ\y 0[\'@
sne Slda @%a o

(¥ X
‘%_(ﬁ(/> | Only tor Felek
\ %a \_;?'L < (-2 ’\+2¥>
(e A

=
a (@— l

How ean e MM;K & we Lound T

CORRECT  (nWerse ¢




S oud &

u\ncﬂo each
WMel So T
<nouldl come

\pacK Yo The some

Yo ng @QW\V
o
2
A\ 1) - (Qf-ﬂr}\q’
N NEE —
R IR =K
2 A
N
il
go& ZX:J-
& NASE
=






